?

® 6cm
® 6v2cm
® 10cm

~&B

Hhlof gt YF7he] 37]%& 90° 0|22 /ABP = 90°
XA PT 7} Y 0 o HAo|E=2 /BAP = /BPT = 60°

- PB =6V3(cm)
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@ sinA - cos A

@ cosA




3. U= 139 aABC oA Ao 25 Hil g O] g2 3

T sin = cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724

vV V¥

D 13.642

a= 20X cos47° = 13.642




4.

thS 1PofA BC 9] ZolE L5HAE?

B<L30° 60°C1;

D2Vv3 @3V ©®4vV3 @ 53 @6‘5
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5. tanA = F A o, sin A +cos A o] gH-& FSH? (T, 0° <A <90°)
17 7 5 19 8
Vi Pm 95 9n 93

B ~

tan A = % o] ™

12 5
1 = — :_0
sin A 13’ cos A 3 1=
12 5 17
Al sin A A=—+ — =_—o|t},
w2tA] sin A + cos 13—1-13 13 i=;




ohe 1T 2 4719 ABC oA tan B 9] 277

B 6/3cmD " 12em-” C

1 2 V3 2

B
12 2 243

tanB= —— = — = —(—

6v3 V3 3
A
C

B'6, /3D 12cm




H

O 3T L [e] N =
e T A7 O] 3He 4% S A2l7iA et
o [e]

7 e ALY
2tz sin cos tan
32° 0.53 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75

@ sin32° = 0.53
@ tan36° =0.73
(@)3 cos36° = 2.44

@ cos34° =0.83

A

@ 2sin35° =1.14

olt}. ot

of

cos 36° = 0.81 ©] 22 3cos36° = 2.43 o|t}.







9.

the 1Y 2ol WAE ] ol

o] A BC =8 ¥ W, cosA x
tan

A

7F85 1 ¥ O o HHshH= AABC
L xsinA o kg ool

B~——2C
LA = /A
AC=VIT2-82=15
. 15 15 8
COSA X p— X sinA = 1—72>< 3 X 7
225
1 289




10.

tan A = sin® 35° + sin® 55° + tan 28° x tan 62° Y ], sin® A —2cos? A

o] gk& +stofet
(T, 0° <A <90°)
>

[
[= B}

> dHE: g

B

tan A = sin” 35° + cos?(90° — 55°) + tan 28° X

2
_\/37

tan(90° — 62°)




